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144 (4 HRRE) 14E (5 A ~3R7%E) 2~ 644

4 A 130 1, 300
5H 130 1, 100 1, 300
6 H 130 1, 100 1, 300
7H 130 1, 100 1, 300
1515y 520 3, 300 5, 200
8 H 130 1, 100 1, 300
9H 130 1, 100 1, 300
104 130 1, 100 1, 300
114 130 1, 100 1, 300
12H 140 1, 100 1, 300
2 A H4y 660 5, 500 6, 500
1A 140 1, 100 1, 300
2 A 140 1, 100 1, 300
3H 140 1, 130 1, 200
35 Wy 420 3, 330 3, 800
GREBE 1, 600 12, 130 15, 500
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144 (4 HRRE) 14E (5 A ~3R7%E) 2 - 3HA

4 190 2, 300
5 A 190 2, 060 2, 300
6 A 190 2, 060 2, 300
7H 190 2, 060 2, 300
1515y 760 6, 180 9, 200
8 A 190 2,100 2, 300
9 A 190 2,100 2, 300
10H 190 2,100 2, 300
118 190 2,100 2, 300
124 190 2, 100 2, 300
2 2244y 950 10, 500 11, 500
1/ 200 2,100 2,200
2 200 2, 100 2, 200
3 200 2,100 2, 210
3 M5y 600 6, 300 6, 610
R 2, 310 22, 980 27, 310




